At&St= AFS0H RE[7t
Mz MR AtZE2
StLbEM &% ZAo[LY
At&dt= ApOtCt StLtd
O=RE LM StLHES
L0 AFRSER| oLt
A= StLEES 2K
StLiL  Ol=  StLtd
Argto|edof 2t
83H1A 4:7-8)

>

mjo
rjo o

T oM M 2E SHA X EESH
r

20182 OpX|9F &0l 1220 EAELICE Xg 111 S0 = H[H7|E 80HO[Lt Ef 2 Ct
o=
1=

i

|
LM o2 XF9oAM 254 Ar9SS HEotfsUC OlF 2018EHS OrF2| otEHA
0 F5H0] S|t L CE 128 oFE S0 HAM UE REESS 29 724 2
AL

OpF2[d &= A=F i 7|=5t0 FA|7| BHELICE

mjo

1.2018 'd =HHY Aol AHS fl8H 7|&= HiEL|CH

S&H X Yo= M 4712 W7t A SO Al 7|E nsk: F&9| HES B
SLILh 2t #8382 BHEO| MFX| @1 X&ZE=F 7|= HHELCh Mz8 X[92 20184 18
FH T 530 SO7H] @2 420 0SS WHSHH AMYstRen Osete| Argol gt
Z4S ol O 44| ot= 31980| FHs St FHO| A7t H A1, 128 1228 Ma
HE 4700FS 3198 MZ4ld, 128 162 SEH Z2E2|ne] 128 MM S MDA Hch 2

= 23 7I24 F92e 230| 3Uot== oH 7|=8l FA|7| BtELC

B




Xt 209

XA

b

7|& BRELCt

=
=

NEERLR

o

2l Of

—
—

.I

A

1l 0|

A

t

—_

b

e
o
-
()
—

2. Xt7IEE}
201840 =

Sm X MR
— & g . —
a Bi s WE
IR oiff 5 ol o
= 7 ®:s AID <0 o
K g o 0sig B _t___e
o - g
oY X LH =~ ol
T I &l 0t = Un
Hx_._w_.._ wm n uu_._._|_._
mwM_Ao_._“_ [ K 40
= oy ar ol
._O._O._| _._._.__u _._._OJ|
K H S
L Tt o . 1 u =
mﬂLI_.A A T K =
< % Z oo ot Kr-
4o = ofu o o 0w A= e
~ ._m.o ﬂ_ & =] o m_m MO or = =) E_ﬁ K _.n_vm
o W R = L @0 1 0 L
o T O gz TuENg gy owm
oF O & I R0 WE T o 2o
GTERERg Eo o MU ZOEET D o F
o_,E_Em_mMm H___.zﬂ o 3o X Ko ISy
T I = L - R
e R Ez T EHLDgFOHDL UMD sq W g
o o ® g WL Ty XKW Tk -3
AT NAOaagD N Kk S
I i S = = of = <| © Y
||A_| = ol o_._| nN A._lﬂ (@] H__L ml O__._._ . Ij_||_ Hm_”_ _IH._| _AO ml _
BNy RaullgsTEN_gr &
St g2 FuscsaymwS s o
W _mF B R 2 QK DO =
o= e B S VR S N . B U e
Doy Hyg W™y ygoIs =3
™~ 4 s i~ v =1
N R A B =~ < Iy Y € B S
o__ewﬂnﬁﬂw r_mmm o_mx_.r_x_o_m_u_umMU ol
uu 4o _ 3 oo T oo = i
_L_urAHW mHgoAmAl__uPr_@mM _.u_._mM_|
ol ey 2 BoUWH 2 % B T0 < L o
1Hnmw 2 ol &0 ol @0 of T Kk ol
i — e S R Ul H — <~ KH <
EEM_O_E./S mmw_._._mn_._m.____o_%_/m_r.@ Mm_u
o = W.H._ o je! o 5 i _n_l_._._ . a0 m._r._l 4Ir 1o m_ne 5
B0 ol ol -2 e & M © o KU K- ! <F B o ~ O

| 7|= =Lt

_
(@]

=
20184 12¢ 6

pAPS
el=HAlOF & &=

—

7|2 E-LICH
O] A= HX|AI7|E

=

=

=

=
o

a2

B

AZO| E[A|7]
LI
o o

L

—

9

L
=

PAIA &

-
(@]

BEOA =

=
s

o o2

012


https://www.youtube.com/watch?v=6gqlNxV3Lag

